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Five businessmen are at a coffee shop in an American airport. Figure out who is going to do business in South America.

Tie: black, blue, green, red, white Departure: 17:00, 17:30, 18:00, 18:30, 19:00
Gate: 1,5,7,12,17

Destination: Johannesburg, London, Sao Paulo, Sydney, Tokyo  Age: 40 years, 45 years, 50 years, 55 years, 60 years

Name: Dustin, Joseph, Marcus, Shawn, Travis
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The youngest businessman is exactly to the left of the
man whose gate is 12.

The man who is going to Sydney is somewhere to the
right of the man wearing the Black tie.

The 60-year-old man is going to South Africa.

Travis is somewhere between the man that will depart
at 19:00 and Shawn, in that order.

Joseph is next to the businessman that is going to
Tokyo.

The man wearing the Black tie is next to the man
whose gate is 5.

The businessman whose gate is 17 is somewhere to the
right of the man wearing the Red tie.

At one of the ends is the businessman who is going to
Japan.

The man wearing the White tie is somewhere to the left
of the man whose gate is 5.

At the fifth position is the 45-year-old businessman.

The man wearing the Blue tie is next to the man who
will depart at 18:00.

The man wearing the White tie is somewhere between
the man whose gate is 7 and Dustin, in that order.

The 50-year-old business man is at one of the ends.
The flight to London will depart at 17:00.

At the fourth position is the businessman wearing the
Red tie.

The 50-year-old man's gate is 7.
Marcus is at one of the ends.

The businessman wearing the White tie is next to the
55-year-old businessman.

The 40-year-old man's flight will depart at 19:00.

The man wearing the White tie is somewhere to the left
of the man who will depart at 18:30.

Dustin is at one of the ends.
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